Answers to Exercise – Chapter 8

Answer – Exercise 1

	Year
	Installments
	Present value (10%)
	PV of installments

	
	$
	
	$

	0
	100,000
	1
	100,000

	1
	100,000
	0.909
	90,900

	2
	100,000
	0.826
	82,600

	3
	100,000
	0.751
	75,100

	
	400,000
	
	348,600


After discounting, the fair value of the consideration is in fact $348,600. The difference between the fair value and the nominal amount of the consideration $51,400 ($400,000 – $348,600) is recognized as interest income in the books of XYZ Ltd.

Exercise 2

On the face, there are two transactions:

(i)
ABC Ltd sells to XYZ Ltd, and

(ii)
XYZ Ltd sells to ABC Ltd.

However, in substance, it is a sale and repurchase agreement with a financing effect.

The risk of changes in asset value is borne by ABC Ltd and XYZ Ltd receives solely what is equivalent to a money lender’s return, i.e., $100,000 ($1 million x 10%). Hence no revenue arises with ABC Ltd nor with XYZ Ltd for the sale.

XYZ Ltd should recognize $100,000 as revenue from financing.

Exercise 3

Revenue is normally recognized when the buyer accepts delivery, and installation and inspection are complete.
The installation includes hardware and software, thus installation is only complete when the customer signed the statement of satisfactory.
Therefore, Computer Ltd should recognize revenue on 31 January 2009.
Exercise 4

ABC Ltd can recognize:

(i)
$50,000 when the cash was paid;

(ii)
$90,910* when the required services were rendered;

(iii)
$10,000 annually being the continuing franchise fees.

*$100,000 was discounted at 10%. The difference $9,090 ($100,000 – $90,910) is recognized as interest revenue.
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